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QUESTION 1

Which of the following statements is true regarding VirtualBox? 

A. VirtualBox uses container-based virtualization and can only run virtual machines using the operating system of the
host system. 

B. VirtualBox can only be run from a graphical desktop environment and not from the text console. 

C. VirtualBox provides special device drivers for several operating systems to enhance the virtual machine\\'s
performance. 

D. VirtualBox contains a hypervisor that runs independently from any other operating system on a bare metal host. 

E. VirtualBox is part of the vanilla Linux kernel and does not require any additional software installation on recent Linux
distributions. 

Correct Answer: C 

 

QUESTION 2

Which of the following commands boots a KVM virtual machine using Debian GNU/Linux? 

A. qemu -create -drive file=debian.img -cdrom debian.iso -m 1024 -boot d 

B. qemu-kvm -drive file=debian.img -cdrom debian.iso -m 1024 -boot d 

C. kvm -create -drive file=debian.img -cdrom debian.iso -m 1024 -boot d 

D. kvm -qemu -drive file=debian.img -cdrom debian.iso -m 1024 -boot d 

Correct Answer: B 

 

QUESTION 3

What is libvirt? 

A. An identity manager used to provide Single-Sign-On for different operating systems. 

B. A driver package used to support 3D printers. 

C. A cluster manager used to handle node access to shared storage. 

D. A combined interface to several virtualization products. 

E. A Linux-based virtualization hypervisor. 

Correct Answer: D 
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QUESTION 4

Which of the following situations can result in a split brain situation in a high availability cluster? 

A. The load balancer of a load balanced cluster fails. 

B. The communication between the cluster nodes is interrupted. 

C. Cluster services are moved between cluster nodes. 

D. More than one node is active in a load balanced cluster. 

E. A cluster node has successfully been fenced. 

Correct Answer: B 

 

QUESTION 5

In the command: crm configure ____ http-after-ipv4 Mandatory: VHost1IPv4 HTTPD 

Which missing word is required in order to ensure that the service HTTPD is always started after the service VHost1IP? 

A. order -or- ORDER 

Correct Answer: A 
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